21

114

34.9

158

*All prices are in S$

Part Number Wod-1L3 b A Part Number R
Body Material $5400 Mounting Bolt M4 Body Material $S400 Mounting Bolt M8
Surface Treatment Trivalent Chromate Fixing Pitch 15.9 Surface Treatment Trivalent Chromate Fixing Pitch 31.8
Accessory Boltwith Rubber Material NBR Hardness Shore AT0 | Suppress Pressure(N) 186 Accessory Bolt with Rubber Material NBR Hardness ShoreAT0] Suppress Pressure(N) 1078
Unit Price Qty. 1~19 Tare(g) 75 Unit Price Qty. 1~19 Tare(g) 815
(RoHs)] (Rors)]
MCO4-1LS MCO4-4LS
~
/7
: M10XP1.5
M5 X P0.8 ; I e
- e : s
T o m 9/ N §Z/
el
5 EE 4 R 4—¢87
} '] | 4—odd
o
N
ary
N
214.75] |15.9] 1475
<
254 1796
Part Number = : 5 Part Number - ; s
b 04215 YT — b Weoi-5 I —
Body Material $S400 Mounting Bolt M5 Body Material S$S400 Mounting Bolt M6
Surface Treatment Trivalent Chromate Fixing Pitch 12.7 Surface Treatment Trivalent Chromate Fixing Pitch 31.8x19
Accessory Boltwih Rubber Materal NBR Hardness Shore AT0 | Suppress Pressure(N) 392 Accessory Boltwih Rubber Materal NBR Hardness ShoreAT0 | Suppress Pressure(N) 2210
Unit Price Qty. 1~19 Tare(g) 175 Unit Price Qty. 1~19 Tare(g) 340
MC04-2LS MC04-5 -
_ — | <
New % ~ NI
)
© T O r 1
@7’ ° ?S < 31.8 ‘
i 2 gD
o oy
7.95| [19] [7.95 — -
) ~
34.9
M6 X P1.0
«© I M8 X P1.25
| o
<
vl | 2
= @
| |G 1
(52
© «
5,
62 |
106
_ Open-Close Angle of Arm 100°
Rale] Ic04-3LS Open-Close Angle of Handle 56°
Body Material $8400 Mounting Bolt M6
Surface Treatment Trivalent Chromate Fixing Pitch 19
Accessory Boltvith Rubber Materal NBR Hardness Shore AT | Suppress Pressure(N) 784
Unit Price Qty. 1~19 21.21 Tare(g) 370
MC04-3LS





